MATHS

BOOKS - PSEB

INTEGRALS

1. Write an anti derivative for each of the following functions using

the method of inspection: cos(2x)

° Watch Video Solution

2. Write an anti derivative for each of the following functions using

the method of inspection: 3z2 + 4a*

[ 1


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_8xB9R76QED3V
https://dl.doubtnut.com/l/_KmuQkpSAm9Jm

| @ Watch Video Solution

3. Write an anti derivative for each of the following functions using

1
the method of inspection: (5), x #0

o Watch Video Solution

. . 3 — 1
4. Find the following integrals:

dzx
22

o Watch Video Solution

5.Find the following integrals: /(a:é + 1) dx

o Watch Video Solution

1
6. Find the following integrals: /(a:é + 2e” — <E>>dw



https://dl.doubtnut.com/l/_KmuQkpSAm9Jm
https://dl.doubtnut.com/l/_ZflIV29Wd8q1
https://dl.doubtnut.com/l/_JiPO5DSbEjYw
https://dl.doubtnut.com/l/_BhZbgeESedla
https://dl.doubtnut.com/l/_OAEyAQTHeHkR

| ° Watch Video Solution

7.Find the following integrals: /(sincc + cosz)dx

o Watch Video Solution

8.Find the following integrals: /cos ecx(cos ecx + cot x)dx

° Watch Video Solution

. L. —sinz
9. Find the following integrals: /1—d:c
cos? z

° Watch Video Solution

10. Find the anti derivative F of f defined by f(z) = 4z® — 6, where

F(0) =3



https://dl.doubtnut.com/l/_OAEyAQTHeHkR
https://dl.doubtnut.com/l/_2XKeUksg0PTW
https://dl.doubtnut.com/l/_ITirZr4RJutG
https://dl.doubtnut.com/l/_5igqWiEwBbbX
https://dl.doubtnut.com/l/_4ocvbcozdOWp

| ° Watch Video Solution

11. Integrate the following functions w.r.t. x: sinmaz

° Watch Video Solution

12. Integrate the following functions w.r.t. x: 2z sin(a:2 + 1)

° Watch Video Solution

tan* Vzsec® \/x

13. Integrate the following functions wir.t. x:

N3

° Watch Video Solution

sin(tan_ 1 :I:)

1+ 22

14. Integrate the following functions wur.t. x:

| o WMWiak .-\t daa Al idiaa


https://dl.doubtnut.com/l/_4ocvbcozdOWp
https://dl.doubtnut.com/l/_LTBAGuq2pCFa
https://dl.doubtnut.com/l/_One8BSHEswBl
https://dl.doubtnut.com/l/_GJeDT35ir53C
https://dl.doubtnut.com/l/_xsR5E4CKZWQX
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15. Find the following integral: /sin3  cos® zdx

° Watch Video Solution

sinz
16. Find the following integral: /_—d:c
sin(z + a)

o Watch Video Solution

1
17. Find the following int l: [———d
7.Find the following integra /1+ta,n:c x

° Watch Video Solution

18. Find : /cos2 zdzr

o Watch Video Solution



https://dl.doubtnut.com/l/_xsR5E4CKZWQX
https://dl.doubtnut.com/l/_N8TZvu2fNLQW
https://dl.doubtnut.com/l/_aeIjlDYiytKr
https://dl.doubtnut.com/l/_LXfVz4WCGQGm
https://dl.doubtnut.com/l/_xp1mi1vECZHt

19. Find : /sin 2x cos 3xdx

° Watch Video Solution

20. Find: /sin3 rdzx

o Watch Video Solution

d
21. Find the following integral: /—x
x2 — 16

o Watch Video Solution

22.Find the following integral: / dz

V2 — z2

o Watch Video Solution



https://dl.doubtnut.com/l/_412AAxgWB2Nu
https://dl.doubtnut.com/l/_7BPvQT5MBArQ
https://dl.doubtnut.com/l/_7xq2ZObTgclm
https://dl.doubtnut.com/l/_3FTivrZfKZ4I

23.Find the following integral: / dz
z? — 6z + 13

° Watch Video Solution

24.Find the following integral: / dz
322 + 13z — 10

° Watch Video Solution

25.Find the following integral: / dz

Vhr? — 22

° Watch Video Solution

. . T+ 2
26. Find the following integral: x
2x% + 6x + 5

° Watch Video Solution



https://dl.doubtnut.com/l/_zVM0wpwU05xO
https://dl.doubtnut.com/l/_ZdMuQn7w04DD
https://dl.doubtnut.com/l/_UBpYoDwgNKc1
https://dl.doubtnut.com/l/_MWdYQ8UOTvIG

3
27.Find the following integral: / r dx
5 —4r — 2

° Watch Video Solution

i dx
28.Find: /(m 1)z 1 2)

o Watch Video Solution

i z? +1
29.Find: [—————dx
2 -5z +6

° Watch Video Solution

3z — 2
30. Find: / - dz
(z +1)°(z + 3)

o Watch Video Solution



https://dl.doubtnut.com/l/_BztXXglVV1jR
https://dl.doubtnut.com/l/_dQDJQgAby2gw
https://dl.doubtnut.com/l/_p4pHg8Aq4vhw
https://dl.doubtnut.com/l/_SmvSFHOTNkjR
https://dl.doubtnut.com/l/_zw7wuMFbYxkv

332

31. Find:
" /(ac2 + 1)(z? 4 4)dz

° Watch Video Solution

- (3sin¢ — 2)cos ¢
32.Find: /5 "o’ d _dsing de¢

o Watch Video Solution

33/ z tatl dz T HS Y3 4|
(z +2)(z2+1)

o Watch Video Solution

34. Find: ﬁ cos zdx

o Watch Video Solution



https://dl.doubtnut.com/l/_zw7wuMFbYxkv
https://dl.doubtnut.com/l/_5koAKSLKdAvl
https://dl.doubtnut.com/l/_fwTaKKTM7MUh
https://dl.doubtnut.com/l/_kFkf6GAgOdwf

35. Find: /log xdx

° Watch Video Solution

36. Find: /ace””d:c

o Watch Video Solution

.1
rsin T x

37.Find: /—d:):
V1 — x?

o Watch Video Solution

38. Find: /2”” sinzdzx

° Watch Video Solution



https://dl.doubtnut.com/l/_NnsjQXrrJ3lI
https://dl.doubtnut.com/l/_CgJ9us4NSAEQ
https://dl.doubtnut.com/l/_BHsQJxS2Vtr7
https://dl.doubtnut.com/l/_p4f6Q01lWHUJ

1
39. Evaluate /3‘” <ta,n_1 T + —)da:.
(1+ 2?)

o Watch Video Solution

(a:2 + 1) e*
40.Find: /—zdw
(z +1)

° Watch Video Solution

41. Find: /\/ z2 + 2z + bdzx

o Watch Video Solution

42. Find: / 3 — 2z — x’dz

° Watch Video Solution



https://dl.doubtnut.com/l/_w7fDwRbe7KYe
https://dl.doubtnut.com/l/_toxN8xFBv0K0
https://dl.doubtnut.com/l/_BsVH19I05UwX
https://dl.doubtnut.com/l/_jKsI0mq2QMnn
https://dl.doubtnut.com/l/_zCJfVG2EbGxu

2
43, Evaluate : / (:c2 + 1) dx as limit of a sum.
0

° Watch Video Solution

2
44, Evaluate, / e” dx as the limit of sums.
0

° Watch Video Solution

3
45. Evaluate the following integral :/ o
2

° Watch Video Solution

N

9
46. Evaluate the following integral :/ —dx
' (30

3\ 2
_mg)

° Watch Video Solution



https://dl.doubtnut.com/l/_zCJfVG2EbGxu
https://dl.doubtnut.com/l/_qk1g07fZneTm
https://dl.doubtnut.com/l/_I22Ok1BjdlQq
https://dl.doubtnut.com/l/_Q1P57qBrafEH
https://dl.doubtnut.com/l/_3Mz49IZLjeHP

rdx
1)(x + 2)

2
47. Evaluate the following integral :/
1 (z+

o Watch Video Solution

™

48. Evaluate the following integral :/ ' sin®(2t)cos(2t)dt
0

° Watch Video Solution

1

49, Evaluate: /
-1

(53:4\/ z°® + 1) dx

° Watch Video Solution

1 tan
50. Evaluate: / — dx
0 1 -|— mz

° Watch Video Solution



https://dl.doubtnut.com/l/_3Mz49IZLjeHP
https://dl.doubtnut.com/l/_TceCHc7udANB
https://dl.doubtnut.com/l/_dAMVOsaiJt7x
https://dl.doubtnut.com/l/_ZlFe9c8K4EU3

2
51. Evaluate:/ ’a:?’ — m'dm
-1

o Watch Video Solution

ISE}

52. Evaluate: / sin® zdx

m
4

° Watch Video Solution

Tsinx

vy
53. Evaluate :/ —dzx.
o 1+ cos?z

° Watch Video Solution

1

54, Evaluate: / sin® z cos* zdz
-1

o Watch Video Solution



https://dl.doubtnut.com/l/_61Q7CMQDcR0D
https://dl.doubtnut.com/l/_0fq4HLKbpfg5
https://dl.doubtnut.com/l/_zzNtOXXx8TVn
https://dl.doubtnut.com/l/_HSxbCOMRpKpZ
https://dl.doubtnut.com/l/_bxOgnpdLvQM8

z .4

2 sin” x
55. EvaIuate:/ dz.
0

sin*z + costz

° Watch Video Solution

w/3 1
56. EvaIuate/ —— dx
/6 1+ +/tanzx

° Watch Video Solution

57. Evaluate:/2logsinmda;.
0

o Watch Video Solution

58. Find: /:os 6x+/1 + sin 6xdx

° Watch Video Solution



https://dl.doubtnut.com/l/_bxOgnpdLvQM8
https://dl.doubtnut.com/l/_6etXYYVX2dZV
https://dl.doubtnut.com/l/_pYiAOURo3GFE
https://dl.doubtnut.com/l/_feidio0sM0xO
https://dl.doubtnut.com/l/_HUE0kPWNYzhM

xd

1
4 1
59. Find: /(w—w)dm

° Watch Video Solution

4
60. Find: / zdz
(z —1)(z2+ 1)

o Watch Video Solution

1
61. Evaluate : /{log(log x) + ]d:c.

(logz)’

° Watch Video Solution

62. Evalualte : /(\/tanw + y/cot z)dz.

o Watch Video Solution



https://dl.doubtnut.com/l/_HUE0kPWNYzhM
https://dl.doubtnut.com/l/_29fx4mQboLpq
https://dl.doubtnut.com/l/_4UNy84KZPbeD
https://dl.doubtnut.com/l/_LWpBMnr09sQO

) sin 2x cos 2x
63. Find: dx
/9 — cos?(2z)

° Watch Video Solution

64. Evaluate:/2 |z sin(7z)|dz
-1

o Watch Video Solution

T zdzx
65. Evalute : 5
0 a?cos?zx + b%sin“x

° Watch Video Solution

Exercise


https://dl.doubtnut.com/l/_lWtqw9ZwqpnT
https://dl.doubtnut.com/l/_fKrCz9Xyj0wC
https://dl.doubtnut.com/l/_v0PPQnsZYAv6

1. Find an anti derivative (or integral) of the following functions by

the method of inspection: sin(2z)

° Watch Video Solution

2. Find an anti derivative (or integral) of the following functions by

the method of inspection : cos(3z)

° Watch Video Solution

3. Find an anti derivative (or integral) of the following functions by

the method of inspection : €**

o Watch Video Solution



https://dl.doubtnut.com/l/_Cu8Ex1d9rtgz
https://dl.doubtnut.com/l/_OjJLhZSHkH0m
https://dl.doubtnut.com/l/_zlhGCA490Qhr

4. Find an anti derivative (or integral) of the following functions by

the method of inspection : (az + b)?

° Watch Video Solution

5. Find an anti derivative (or integral) of the following functions by

the method of inspection : sin 2z — 4e>®

° Watch Video Solution

6. Find the following integral: /(463m + 1) dx

° Watch Video Solution

1
7.Find the following integral : /ar:2 (1 — (—2>>dm
x

° Watch Video Solution



https://dl.doubtnut.com/l/_FIgeRnLH9mLq
https://dl.doubtnut.com/l/_o80sTuk2jsRd
https://dl.doubtnut.com/l/_hzMSW1PRqBGb
https://dl.doubtnut.com/l/_i3Dm0ME8VPih

8. Find the following integral : /(a:c2 + bx + c) dx

° Watch Video Solution

9. Find the following integral : /(2332 -+ e””)dac

° Watch Video Solution

2
1
10. Find the following integral : / <\/a_3 — (7)) dx
x

° Watch Video Solution

3 2 4
11. Find the following integral : /:)3 + 52; dx
x

° Watch Video Solution



https://dl.doubtnut.com/l/_i3Dm0ME8VPih
https://dl.doubtnut.com/l/_oOKJPTNOuirl
https://dl.doubtnut.com/l/_R3dyzli6TWpd
https://dl.doubtnut.com/l/_3L6abomtcvPv
https://dl.doubtnut.com/l/_oW0KqWW4mhm8

12. Find the following integral : /
NI

3
T —|—3w—|—4)dx

° Watch Video Solution

3 _ .2 -1
13. Find the following integral : /(a: z +1w )d:c

° Watch Video Solution

14. Find the following integral : /((1 — z)/T)dz

o Watch Video Solution

15. Find the following integral : /(\/5(3:132 + 2z + 3))da:

° Watch Video Solution



https://dl.doubtnut.com/l/_oW0KqWW4mhm8
https://dl.doubtnut.com/l/_7Hj2IAD03Dyd
https://dl.doubtnut.com/l/_bFwP01Md11tS
https://dl.doubtnut.com/l/_EaLW5S933ZpY
https://dl.doubtnut.com/l/_QvkOAThQJ8Fq

16. Find the following integral : /(23: — 3cosz + e”)dzx

° Watch Video Solution

17.Find the following integral : /(2:c2 — 3sinx + 5\/5) dx

o Watch Video Solution

18. Find the following integral : /secx(sec:r + tanz)dz

° Watch Video Solution

19. Find the following integral : / dx

cos ec?(x)

° Watch Video Solution



https://dl.doubtnut.com/l/_mjbF7TB2iJAJ
https://dl.doubtnut.com/l/_yW5WsiZd4Esq
https://dl.doubtnut.com/l/_SBOs4nWYz9qA
https://dl.doubtnut.com/l/_20XUz7FUY7Fi

. . — 3sinz
20. Find the following integral : [———dx
cos?(z)

0 Watch Video Solution

21. Choose the «correct answer : The anti

(o) e

1 1 1
A. <§>az3 + 222 +C
2 1
B. <§>x%+<§ 2 4+ C
2\ 3 1
C.(g);t}z + 222 + C
o. (3t o (1\et 10
. E QE?—I— E QE?—I—

Answer:

derivative of

° Watch Video Solution



https://dl.doubtnut.com/l/_K35l63tsIy9e
https://dl.doubtnut.com/l/_XScMEprzbdrH

22.If (i>f(a:) = 423 — 3 such that f(2) = 0.Then f(x) is
d x?

x
Azt + <i> - &
x3 8
B.z* + (i> + ﬁ
xt 8
C.z’ + (i> 2
x3 8
D.z* + (i> - 1—29
xt 8
Answer:

° Watch Video Solution

23. Integrate the function: 2

1+ 22

° Watch Video Solution

(logz)®

24. Integrate the function:
x



https://dl.doubtnut.com/l/_cEp31VRPwgDs
https://dl.doubtnut.com/l/_9ivwgiOJR1DR
https://dl.doubtnut.com/l/_GUa1fAT25ncz

| ° Watch Video Solution

1

25. Integrate the function: ———
x + zlogx

° Watch Video Solution

26. Integrate the function: sin x sin(cos )

o Watch Video Solution

27.Integrate the function: sin(az + b)cos(az + b)

° Watch Video Solution

28.Integrate the function: \/az + b

° Watch Video Solution



https://dl.doubtnut.com/l/_GUa1fAT25ncz
https://dl.doubtnut.com/l/_TNNcDK4gDSmt
https://dl.doubtnut.com/l/_QdF28u98Vhtn
https://dl.doubtnut.com/l/_7hI0xbivvL5A
https://dl.doubtnut.com/l/_8y6Jap5cDkJV

29. Integrate the function: zy/z + 2

° Watch Video Solution

30. Integrate the function: z+/1 + 2z

o Watch Video Solution

31. Integrate the function: (42 + 2)v/z*> + = + 1

° Watch Video Solution

32. Integrate the function:

Vo

o Watch Video Solution



https://dl.doubtnut.com/l/_8y6Jap5cDkJV
https://dl.doubtnut.com/l/_XSkn50xXWuMW
https://dl.doubtnut.com/l/_282u03XWiIHY
https://dl.doubtnut.com/l/_95cQQkJwXhLB
https://dl.doubtnut.com/l/_dGrV5sxvcFjw

33.Integrate the function: L, z >0
v +4

° Watch Video Solution

w =

34. Integrate the function: (:1:3 — 1) z°

° Watch Video Solution

x2

35. Integrate the function: —
(2 + 3x3)

° Watch Video Solution

36. Integrate the function: ————
9 — 4x2

o Watch Video Solution



https://dl.doubtnut.com/l/_F0548pmDjtBZ
https://dl.doubtnut.com/l/_h4sTe0fi2bT2
https://dl.doubtnut.com/l/_Cpg1qwyyxsV6
https://dl.doubtnut.com/l/_FeQyGcr50Zj1
https://dl.doubtnut.com/l/_t4Yfoic8JJof

37.Integrate the function: e2* 3

o Watch Video Solution

. T
38. Integrate the function: —
e:E

° Watch Video Solution

tan 'z

39. Integrate the function:

14 22

o Watch Video Solution

e’ — 1
40. Integrate the function: ———
e +1

° Watch Video Solution



https://dl.doubtnut.com/l/_t4Yfoic8JJof
https://dl.doubtnut.com/l/_ad1Tn9S4BheE
https://dl.doubtnut.com/l/_MyxNBy9FZIel
https://dl.doubtnut.com/l/_np1Hn6iExRjF

2x —2x

41. Integrate the function: ————

° Watch Video Solution

42. Integrate the function: tan?(2z — 3)

o Watch Video Solution

43. Integrate the function: sec’(7 — 4z)

° Watch Video Solution

-1

. sin” "z
44. Integrate the function:
V1 — x?

° Watch Video Solution



https://dl.doubtnut.com/l/_zIQv7QLmmO8N
https://dl.doubtnut.com/l/_4Icu1xuOEIWD
https://dl.doubtnut.com/l/_hKp6ovi1teeL
https://dl.doubtnut.com/l/_eZXibBJBkEkH
https://dl.doubtnut.com/l/_OoMvf8pu6Vg6

2cosx — 3sinzx

45, Int te the function:
ntegrate the function Scoss - dsing

° Watch Video Solution

1

46. Integrate the function: 5
cos?z(1 — tanz)

o Watch Video Solution

47. Integrate the function:

o Watch Video Solution

48. Integrate the function: y/sin 2x cos 2x

° Watch Video Solution



https://dl.doubtnut.com/l/_OoMvf8pu6Vg6
https://dl.doubtnut.com/l/_bX3ZzjLm9KUb
https://dl.doubtnut.com/l/_6SoLrzx1ngtq
https://dl.doubtnut.com/l/_DSrfy38JhbKo

Cos T

1+ sinzx

49. Integrate the function:

° Watch Video Solution

50. Integrate the function: cot x logsin x

° Watch Video Solution

. sinx
51. Integrate the function:
+ cosx

o Watch Video Solution

) sinx
52. Integrate the function: 5
(14 cosx)

° Watch Video Solution



https://dl.doubtnut.com/l/_XIhko6BovkXz
https://dl.doubtnut.com/l/_QmqQ3yskkF5n
https://dl.doubtnut.com/l/_CMVGNcXeJalz
https://dl.doubtnut.com/l/_6ObpVwTlMiPS
https://dl.doubtnut.com/l/_DzCy930jk51g

1

53.Integrate the function: ———
14 cotzx

° Watch Video Solution

1

54.Integrate the function: ——
1—tanz

o Watch Video Solution

tanx

55.Integrate the function: —
sinz cos

o Watch Video Solution

(1+ logz)?

56. Integrate the function:
x

° Watch Video Solution



https://dl.doubtnut.com/l/_DzCy930jk51g
https://dl.doubtnut.com/l/_YR9dCAQ4SRoa
https://dl.doubtnut.com/l/_EM9EMm84gz6k
https://dl.doubtnut.com/l/_bMqHx4EZJC1f

| (« + loga)’
57.Integrate the function: (z + 1) ————

° Watch Video Solution

x3 sin(ta,n_ 1 :I;4)

58. frasfearas U3 Ja:
1+ 28

° Watch Video Solution

dx is equal to :

10z° + 10” log, 10
50. /
z10 + 10"

A 10° — 210 4+ C
B.10% + z!0 + C
1

C.(10° =2 "+ C

D.log(10° + z') + C

Answer:



https://dl.doubtnut.com/l/_Fm7usupQCzku
https://dl.doubtnut.com/l/_vJGIKuRh712v
https://dl.doubtnut.com/l/_lNbvztcAL7HU

° Watch Video Solution

dx
60. /2— equals :
sin® x cos?

A.tanz + cotxz + C
B.tanxz — cotxz + C
C.tanxzcotz + C

D.tanz — cot 2z + C

Answer:

° Watch Video Solution

61. Find the integrals of the function: sin®(2z + 5)

° Watch Video Solution



https://dl.doubtnut.com/l/_lNbvztcAL7HU
https://dl.doubtnut.com/l/_Ajaw8E2duPLP
https://dl.doubtnut.com/l/_6mqgu57rVMJw
https://dl.doubtnut.com/l/_uMaiVqvquLVb

62. Find the integrals of the function: sin 3z cos 4z

° Watch Video Solution

63. Find the integrals of the function: cos 2z cos 4z cos 6z

o Watch Video Solution

64. Find the integrals of the function: sin®(2z 4 1)

° Watch Video Solution

65. Find the integrals of the function: sin® z cos® z

o Watch Video Solution



https://dl.doubtnut.com/l/_uMaiVqvquLVb
https://dl.doubtnut.com/l/_ufc26dZQ3vFQ
https://dl.doubtnut.com/l/_BRzHkcCT21zA
https://dl.doubtnut.com/l/_vyO63qEul8nK

66. Find the integrals of the function: sin z sin 2z sin 3z

° Watch Video Solution

67. Find the integrals of the function: sin 4z sin 8z

o Watch Video Solution

) ) ) 1——cosx
68. Find the integrals of the function: ———
14 cosz

° Watch Video Solution

COosS T

69. Find the integrals of the function: ————
14 cosz

o Watch Video Solution



https://dl.doubtnut.com/l/_IPQChaygGLwD
https://dl.doubtnut.com/l/_NH68CSZsbpfv
https://dl.doubtnut.com/l/_br7zxAQMX2QM
https://dl.doubtnut.com/l/_CtWOKEHnv9Nw

70. Find the integrals of the function: sin* z

° Watch Video Solution

71.Find the integrals of the function: cos*(2z)

o Watch Video Solution

, , ) sin?
72.Find the integrals of the function: ———
14 coszx

° Watch Video Solution

cos 2x — cos 2«

73.Find the integrals of the function:
COST — Cos &

° Watch Video Solution



https://dl.doubtnut.com/l/_ImrkegJnnVnN
https://dl.doubtnut.com/l/_DIF27mMQZd1i
https://dl.doubtnut.com/l/_shkb9Wzhvaf8
https://dl.doubtnut.com/l/_0oDVBBEssCrh

cosT — sinx
1+ sin2x

74. Find the integrals of the function:

° Watch Video Solution

75. Find the integrals of the function: tan®(2z)sec 2z

o Watch Video Solution

76.Find the integrals of the function: tan* z

° Watch Video Solution

3 3

sin® x + cos® x

77.Find the integrals of the function: >

sin“ x cos? x

° Watch Video Solution



https://dl.doubtnut.com/l/_nTv4I0bqppvR
https://dl.doubtnut.com/l/_vRecJju81pmB
https://dl.doubtnut.com/l/_IqMjoMrEGUgN
https://dl.doubtnut.com/l/_Y8k95iiwpGQB

cos 2z + 2sin’ x

78.Find the integrals of the function:

cos? x
° Watch Video Solution
79. Find the integrals of the function: ——. cos® =
sinx
° Watch Video Solution
cos 2x

80.Find the integrals of the function: 5
(cosx + sinx)

° Watch Video Solution

81. Find the integrals of the function: sin~*(cos z)

° Watch Video Solution



https://dl.doubtnut.com/l/_gM6ACenAgo5G
https://dl.doubtnut.com/l/_Vo4f9LMSifB8
https://dl.doubtnut.com/l/_MPmb5l3WAVGZ
https://dl.doubtnut.com/l/_3a5Q0gN4Ebwm
https://dl.doubtnut.com/l/_AnFAR0p4NmuS

1

82.Find the integrals of the function:
cos(x — a)cos(x — b)

° Watch Video Solution

. 2 2
sin“x — cos’x . .
8. 5 dx is equal to :
sin” x cos? ¢

A.tanz +cotxz + C

B.tanx + cosecx + C

C.—tanx +cotx + C

D.tanz + secx + C

Answer:

° Watch Video Solution

e”(1+ z)
84. Choose the correct answer: /

dzx is equal to:
cos?(zer) a


https://dl.doubtnut.com/l/_AnFAR0p4NmuS
https://dl.doubtnut.com/l/_j3jNcEiQNbIF
https://dl.doubtnut.com/l/_1dp7GkCtAA8F

A. —cot(ez®) + C
B. tan(ze”) + C
C.tan(e®) + C

D.cot(e”) + C

Answer:

o Watch Video Solution

32

6 +1

85. Integrate the functions:

° Watch Video Solution

1

V1 + 4z2

86. Integrate the functions:

o Watch Video Solution



https://dl.doubtnut.com/l/_1dp7GkCtAA8F
https://dl.doubtnut.com/l/_8VOFYrrilziS
https://dl.doubtnut.com/l/_o37NkQYFlcdM
https://dl.doubtnut.com/l/_YbCpFsid64bF

1
87.Integrate the functions:

(2—z)° +1

° Watch Video Solution

dzx
88. /—
V9 — 25z2

° Watch Video Solution

89. Integrate the functions: 3————
1+ 2z*

o Watch Video Solution

2

90. Integrate the functions:
1—x6

° Watch Video Solution



https://dl.doubtnut.com/l/_YbCpFsid64bF
https://dl.doubtnut.com/l/_TFgHnQvTGbRo
https://dl.doubtnut.com/l/_3urB0SnGORLr
https://dl.doubtnut.com/l/_8VtP35PdzDxO
https://dl.doubtnut.com/l/_kwBTjTmXADQq

91. Integrate the functions:

T
vzl —1

o Watch Video Solution

2
92. Integrate the functions: L
) /2176 + 0,6
° Watch Video Solution
. sec’ x
93. Integrate the functions: ———
tan’zx + 4
o Watch Video Solution
1
94. Integrate the functions:
2+ 2z + 2

° Watch Video Solution



https://dl.doubtnut.com/l/_kwBTjTmXADQq
https://dl.doubtnut.com/l/_3E7Nlty56MPU
https://dl.doubtnut.com/l/_rcPsvhwI6SPC
https://dl.doubtnut.com/l/_6fLqwfJTZRkW

1
922 4 6z + 5

95. Integrate the functions:

° Watch Video Solution

1

VT —6x — 2

96. Integrate the functions:

° Watch Video Solution

1

97. Integrate the functions:

V(e -1)(z - 2)

o Watch Video Solution

1
V8 + 3z — z2

98. Integrate the functions:

° Watch Video Solution



https://dl.doubtnut.com/l/_0UQxCOOVLeB0
https://dl.doubtnut.com/l/_yN5jagIiTHb7
https://dl.doubtnut.com/l/_oRDLtoaKgCWV
https://dl.doubtnut.com/l/_6JgsNKn1mhLz
https://dl.doubtnut.com/l/_r6DDR65OTH7W

4r + 1

V2zx2 4+ —3

99. Integrate the functions:

o Watch Video Solution

100. Integrate the functions:
z?2 —1

° Watch Video Solution

br — 2
1+ 2x + 322

101. Integrate the functions:

o Watch Video Solution

6x + 7

102. Integrate the functions:

V(=5 (z—49)

o Watch Video Solution



https://dl.doubtnut.com/l/_r6DDR65OTH7W
https://dl.doubtnut.com/l/_sJgM5kXLlwxi
https://dl.doubtnut.com/l/_Ob3BcptYQVnT
https://dl.doubtnut.com/l/_u7EINPw4nHSN

103. Integrate the functions:

T+ 2

Var — x?
° Watch Video Solution
i T+ 2
104. Integrate the functions:
vz +2z +3
° Watch Video Solution
r+3

105. Integrate the functions:

x2 —2x —5

° Watch Video Solution

106. Integrate the functions:

5z + 3

V2 + 4z + 10

° Watch Video Solution



https://dl.doubtnut.com/l/_2wcl1UDLq9fK
https://dl.doubtnut.com/l/_foKqOh4QG3uh
https://dl.doubtnut.com/l/_tX8WaYupJI1B
https://dl.doubtnut.com/l/_y5YRg9jfD20P
https://dl.doubtnut.com/l/_CF5H0vYWtnko

107. Choose the correct answer: /d—az equals:
V9z — 4x?
1 9z — 8
A.gsin_1< :1:8 >+C
1. (/8 -9
B. 5sin < 5 > +C
1 9z — 8
C.gsin_l( az8 ) +C
1 9 — 8
D.Esin_l( a:8 ) +C
Answer:

o Watch Video Solution

108. Integrate the rational function:
(z+1)(x + 2)

° Watch Video Solution

109. Integrate the rational function:

zc — 9

° Watch Video Solution



https://dl.doubtnut.com/l/_CF5H0vYWtnko
https://dl.doubtnut.com/l/_VeMZyU7ar96C
https://dl.doubtnut.com/l/_hvhpORaqNBLK

, . 3z — 1
110. Integrate the rational function:

(z — 1)(z — 2)(z — 3)

° Watch Video Solution

(z — 1)(z — 2)(z — 3)

111. Integrate the rational function:

o Watch Video Solution

112. Integrate the rational function: o T
x2 4+ 3z + 2
° Watch Video Solution
: . 1—
113. Integrate the rational function: ———
z(1 — 2z)

o Watch Video Solution



https://dl.doubtnut.com/l/_hvhpORaqNBLK
https://dl.doubtnut.com/l/_DgdUW72DxNbN
https://dl.doubtnut.com/l/_xkjfI68fPKft
https://dl.doubtnut.com/l/_8r6ZdvxqF4wr
https://dl.doubtnut.com/l/_yvN86dvjxuPk

(22 4+ 1)(z — 1)

114. Integrate the rational function:

° Watch Video Solution

Z

(- 1)*(z +2)

115. Integrate the rational function:

° Watch Video Solution

3r +5

3 —x2 -z +1

116. Integrate the rational function:

° Watch Video Solution

2z — 3

117. Integrate the rational function:
8 (22 — 1)(2z + 3)

° Watch Video Solution



https://dl.doubtnut.com/l/_uTsM7oGnNQl9
https://dl.doubtnut.com/l/_3XTEjn4FLED5
https://dl.doubtnut.com/l/_CGRN8k1GU5ze
https://dl.doubtnut.com/l/_KqhaC3981wXC
https://dl.doubtnut.com/l/_0UDYAaIkYz0D

118. Integrate the rational function: 5

z + 1)(z? — 4)
° Watch Video Solution
4+ +1
119. Integrate the rational function: 2 1
w p—
° Watch Video Solution
2

120. Integrate the rational function:
& oA O T T (1 1 29

° Watch Video Solution

3z — 1

121. Integrate the rational function: —
(x +2)

o Watch Video Solution



https://dl.doubtnut.com/l/_0UDYAaIkYz0D
https://dl.doubtnut.com/l/_7r0zKmmBeh6K
https://dl.doubtnut.com/l/_vQCiP8oxic6o
https://dl.doubtnut.com/l/_dnY4HtxeSmlq

122. Integrate the rational function:

z* —1
° Watch Video Solution
: : 1
123. Integrate the rational function: ——
z(x™ + 1)
o Watch Video Solution
cos T

124. Integrate the rational function:

(1 —sinz)(2 — sinx)

o Watch Video Solution

(% + 1) (2% + 2)
(z2 + 3)(z? + 4)

125. Integrate the rational function:

° Watch Video Solution



https://dl.doubtnut.com/l/_5Szfi738s170
https://dl.doubtnut.com/l/_rX6Ga0wRx0io
https://dl.doubtnut.com/l/_OQPXs24SH6h2
https://dl.doubtnut.com/l/_cAAcOIeK75Xl
https://dl.doubtnut.com/l/_t2dHzPahxLSG

Z

126. Integrate the rational function: 2
(2 + 1)(x% + 3)

° Watch Video Solution

1

127. Integrate the rational function: ————
z(zt—1)

o Watch Video Solution

128. Integrate the rational function: — 1
e J—

° Watch Video Solution

dzx
(z - Dz 2)

129. Choose the correct answer: ﬁc equals:

Al —(w_l)z C
. log PO =+

(z —2)°
B.logl—— | + C
z—1



https://dl.doubtnut.com/l/_t2dHzPahxLSG
https://dl.doubtnut.com/l/_3YE5PyHaVe6C
https://dl.doubtnut.com/l/_u9TQYEeFuzS1
https://dl.doubtnut.com/l/_wQeXTzyWZuOz

C.log +C

(==3)

D.log|(z — 1)(z — 2)| + C

Answer:

° Watch Video Solution

130. /d—m equals :
z(z? + 1)

1 2
A log|z| — Elog(a: +1)+C
1 2
B.log|z| + Elog(a: +1)+C
B 2
C. —log|z| + Elog(:c +1)+C

1 2
D. 510g[w| +log(z® + 1) + C

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_wQeXTzyWZuOz
https://dl.doubtnut.com/l/_760K8iHjCG1x
https://dl.doubtnut.com/l/_Z2vHjBt6Y6ir

131. Integrate the function : zsinx

° Watch Video Solution

132. Integrate the function : x sin 3z

o Watch Video Solution

133. Integrate the function : z?e®

° Watch Video Solution

134. Integrate the function : x logx

° Watch Video Solution



https://dl.doubtnut.com/l/_Z2vHjBt6Y6ir
https://dl.doubtnut.com/l/_u5ZMzWDgG5zx
https://dl.doubtnut.com/l/_w8dF76EmvfVa
https://dl.doubtnut.com/l/_ANuUa48BiLSi

135. Integrate the function : z logz

° Watch Video Solution

136. Integrate the function : 2% log

o Watch Video Solution

137. Integrate the function : z sin ' z

° Watch Video Solution

138. Integrate the function : z tan ! z

o Watch Video Solution



https://dl.doubtnut.com/l/_cNrFnwLdm03H
https://dl.doubtnut.com/l/_cghZrcSJuw5D
https://dl.doubtnut.com/l/_3GiHaOXiV3M2
https://dl.doubtnut.com/l/_OGlz20aAMBzM

139. Integrate the function : z cos ! z

° Watch Video Solution

140. Integrate the function : (sin_1 33)2

o Watch Video Solution

ar;cos_lm

V1—zx2

141. Integrate the function:

° Watch Video Solution

142. Integrate the function: z sec® x

o Watch Video Solution



https://dl.doubtnut.com/l/_t42kPaCQ98ZF
https://dl.doubtnut.com/l/_IqqOrOJvRuk3
https://dl.doubtnut.com/l/_9G4qE1xZfxzX
https://dl.doubtnut.com/l/_e9vph99ea1VO

143. Integrate the function: tan ' =

° Watch Video Solution

144. Integrate the function: z(log z)?

o Watch Video Solution

145. Integrate the function: (:1:2 + 1)logac

° Watch Video Solution

146. Integrate the function: e”(sinz + cos x)

o Watch Video Solution



https://dl.doubtnut.com/l/_WcGf8eq0aBiM
https://dl.doubtnut.com/l/_wGt9phZulA7G
https://dl.doubtnut.com/l/_unppg37OPGTu
https://dl.doubtnut.com/l/_kFtnMQYB1WBv

re”

147. Integrate the function: 5
(1+x)

° Watch Video Solution

14 sinz
148. Integrate the function: e* ( )

1+ coszx

° Watch Video Solution

1 1
149. Integrate the function: e® (- - _>
€ $2

o Watch Video Solution

(2 - 3)e”
150. Integrate the function: 3
(z —1)

° Watch Video Solution



https://dl.doubtnut.com/l/_kF1g5TBulEAg
https://dl.doubtnut.com/l/_rDcK5MRIIShg
https://dl.doubtnut.com/l/_slNb4AltmZ4o
https://dl.doubtnut.com/l/_m9nDesjk9zrh
https://dl.doubtnut.com/l/_8smnABXgVrVJ

151. Integrate the function: ?® sin z

o Watch Video Solution

2z
152. Integrate the function: sin !
14 22

° Watch Video Solution

3
153. Choose the correct answer: ﬁczex dx equals :

A —e® +C

@
o
8
4
Q

N
®
H
+
Q

O
N[ = = Wk W]

o

N
+
Q

Answer:

| o WMWiak .\t daa Ol idiaa


https://dl.doubtnut.com/l/_8smnABXgVrVJ
https://dl.doubtnut.com/l/_IY0xaf1jfubx
https://dl.doubtnut.com/l/_KWXQULbGY7CA

\ ____ vyYvadtillill VIUCUV JVIULIVII

154. Choose the correct answer: /eac secz(l 4 tanz)dx equals :

A.e®cosxz +C
B.e”secx + C
C.esinz + C

D.e*tanx + C

Answer:

° Watch Video Solution

155. Integrate the function: \/4 — z*

o Watch Video Solution



https://dl.doubtnut.com/l/_KWXQULbGY7CA
https://dl.doubtnut.com/l/_f9Zlv5HRrAgT
https://dl.doubtnut.com/l/_ixVARZYDICkv

156. Integrate the function: \/1 — 4z

° Watch Video Solution

157. Integrate the function: v/z* + 4z + 6

o Watch Video Solution

158. Integrate the function: v/z% + 4z + 1

° Watch Video Solution

159. Integrate the function: /1 — 4z — z2

o Watch Video Solution



https://dl.doubtnut.com/l/_gPuGOfneuLLQ
https://dl.doubtnut.com/l/_Hf3ETduUAUJL
https://dl.doubtnut.com/l/_1GGmXec4MmpA
https://dl.doubtnut.com/l/_yhgPnJrCUvMu

160. Integrate the function: v/z* + 4z — 5

° Watch Video Solution

161. Integrate the function: \/1 + 3z —

o Watch Video Solution

162. Integrate the function: v/ + 3z

° Watch Video Solution

2
163. Integrate the function: 4/1 + %

o Watch Video Solution



https://dl.doubtnut.com/l/_4T5bQvvn47kS
https://dl.doubtnut.com/l/_1o2UG7GATADE
https://dl.doubtnut.com/l/_RdvAbdR4AuwW
https://dl.doubtnut.com/l/_nTD5y5BlXlF0

164. Choose the correct answer: /\/ 1 + z%dz is equal to:

1
A.% 1+m2+§log}(:c+\/1+w2)}+0

32 1 2%+C
‘5( + z?)

3
2

2 2
Cgz(l+2°)’ +C

2 1
D.%\/1+a:2+§a:210g‘(9:+\/1+x2)}—|—C'

Answer:

° Watch Video Solution

165. Choose the correct answer: /\/ x? — 8z + 7dz is equal to:
A.

1
5(:1:—4)\/902 —8:1:+7+910g‘:1:—4+ Vv z? —890—1—7‘ +C


https://dl.doubtnut.com/l/_sHf9Lvae2SEH
https://dl.doubtnut.com/l/_JHDIL1AlgjQM

1
5(a:—|—4)\/x2 —8:1:+7—|—910g‘$+4—|— Va? —83:—1—7‘ +C

1

(@ —4Va? — 8z +7—3y2loglz —4++/2? — 8z + 7|+ C

1 9
5(:3—4) x? — 8 + 7+ 510g)a:—4+\/a:2—8w+7)+0

Answer:

o Watch Video Solution

b
166. Evaluate the following definite integral as limit of sum: / xdz
a

0 Watch Video Solution



https://dl.doubtnut.com/l/_JHDIL1AlgjQM
https://dl.doubtnut.com/l/_trP4s2gbtecP

167. Evaluate the following definite integral as limit of sum :

/05(:1:+1)d:1:

° Watch Video Solution

168. Evaluate the following definite integral as limit of sum :

/23 (a:2)da:

° Watch Video Solution

169. Evaluate the following definite integral as limit of sum :

/14 (ar:2 — :I:)dac

° Watch Video Solution



https://dl.doubtnut.com/l/_N6eATVF7ewVH
https://dl.doubtnut.com/l/_09MXHUB54TSI
https://dl.doubtnut.com/l/_J8r6rf6HIvsi

170. Evaluate the following definite integral as limit of sum :

/_ 11 (%) da

° Watch Video Solution

171. Evaluate the following definite integral as limit of sum :

4
/ (m + e2a:)dw
0

° Watch Video Solution

1
172. Evaluate the definite integral: / (z + 1)dz
~1

° Watch Video Solution

371
173. Evaluate the definite integral: / (—) dx
5 \ T

| n-.. " 1 w1 -~ 1 e


https://dl.doubtnut.com/l/_DMFG5WwaDqTU
https://dl.doubtnut.com/l/_w0Ea4RdPfReH
https://dl.doubtnut.com/l/_c3SAr3EIScCG
https://dl.doubtnut.com/l/_klmb5mdp8oQx

| % vvaldll vIACo SOIution

2
174. Evaluate the definite integral: / (4333 — 5z 4 6z + 9) dx
1

° Watch Video Solution

™

175. Evaluate the definite integral: / ' (sin2z)dx
0

o Watch Video Solution

3
176. Evaluate the definite integral: / (cos 2x)dzx
0

° Watch Video Solution

5
177. Evaluate the definite integral: / (e”)dz
4

o Watch Video Solution



https://dl.doubtnut.com/l/_klmb5mdp8oQx
https://dl.doubtnut.com/l/_FwhDu57FX2qe
https://dl.doubtnut.com/l/_VG88z3n4lcWx
https://dl.doubtnut.com/l/_qvFyE08PZ6tB
https://dl.doubtnut.com/l/_crBZ6Y52szKT

178. Evaluate the definite integral: / 4 (tanzx)dx
0

° Watch Video Solution

4
179. Evaluate the definite integral: / (cos ecz)dx

o Watch Video Solution

o L/ pdx
180. Evaluate the definite integral: /
0 1 +x

° Watch Video Solution

3 dx
181. Evaluate the definite integral: / ( > 1 )
2 T —

o Watch Video Solution



https://dl.doubtnut.com/l/_crBZ6Y52szKT
https://dl.doubtnut.com/l/_fifRkHxfAJkH
https://dl.doubtnut.com/l/_dCxUm4rAL1SN
https://dl.doubtnut.com/l/_ipez6rtWLtmC
https://dl.doubtnut.com/l/_YvI3YVT3nJuB

dx
V1—2z2

1
182. Evaluate the definite integral: /
0

° Watch Video Solution

ol

183. Evaluate the definite integral: / (0052 :c)d:v
0

° Watch Video Solution

xzdx
2 +1

3
184. Evaluate the definite integral: /
2

° Watch Video Solution

2
a:+3d

1
185. Evaluate the definite integral: / —dx
0 5%2 + 1

° Watch Video Solution



https://dl.doubtnut.com/l/_YvI3YVT3nJuB
https://dl.doubtnut.com/l/_UnI8tWWQuZCQ
https://dl.doubtnut.com/l/_Lt5UCZVLnIJ5
https://dl.doubtnut.com/l/_jFvW6EQVV14T
https://dl.doubtnut.com/l/_E7wrHx5G4RVF

1
186. Evaluate the definite integral: / (xe”2> dx
0

o Watch Video Solution

52

2
187. Evaluate the definite integral: / —dx
1 x2+4x + 3

o Watch Video Solution

s
4

188. Evaluate the definite integral: / (2 sec’ z 4+ x° + 2) dx
0

° Watch Video Solution

189. Evaluate the definite integral: / (sin2 (%) — cos® (%))daz
0

° Watch Video Solution



https://dl.doubtnut.com/l/_XdBZPCYKPfSY
https://dl.doubtnut.com/l/_qG6k85AmVvfi
https://dl.doubtnut.com/l/_wQfmeuByiMcl
https://dl.doubtnut.com/l/_F60ZfKw9psOR
https://dl.doubtnut.com/l/_1wxzybFjFXrM

dx

L > 6z + 3
190. Evaluate the definite integral:
0 2132 + 4

0 Watch Video Solution

1
191. Evaluate the definite integral: / (:cem + sin(%))dm
0

° Watch Video Solution

V3 de
192. Is :
/1 T a2 equals

A.

w| 3

N

O
l\l—‘3|_\_‘ @I-\—]

Answer:



https://dl.doubtnut.com/l/_1wxzybFjFXrM
https://dl.doubtnut.com/l/_rIa4cVFL9OXv
https://dl.doubtnut.com/l/_ODn3MZVLvm5M

| ' Vvatlch viaeo solution

2
3 dx
193. Choose the correct answer: / —— | equals:
0 4 —I— 9$2

>

w
5';] @l-‘]

N
NG ﬁ|;\

o

Answer:

° Watch Video Solution

1
x
194. Evaluate the integral using substitution: / dx
0 2132 + 1

o Watch Video Solution



https://dl.doubtnut.com/l/_ODn3MZVLvm5M
https://dl.doubtnut.com/l/_EPHN6AY9nbTb
https://dl.doubtnut.com/l/_z468YnnV3TRU
https://dl.doubtnut.com/l/_YI94u1tsoThS

3
195. Evaluate the integral using substitution: / ,/sin¢cos5 odo
0

° Watch Video Solution

196. Evaluate the integral

1
/ sin_l( 2z )d:c
0 1+$2

using

substitution:

° Watch Video Solution

2
197. Evaluate the integral using substitution: / (\/CE + 2) dx
0

° Watch Video Solution

2
198. Evaluate the integral using substitution: /
0

i

U

sinz >d$

1+ cos?z

o Watch Video Solution



https://dl.doubtnut.com/l/_YI94u1tsoThS
https://dl.doubtnut.com/l/_Zij8ZEvuE5yp
https://dl.doubtnut.com/l/_lF2OvNFUv6TF
https://dl.doubtnut.com/l/_GLpBHIyPT2AP
https://dl.doubtnut.com/l/_5NUt090HzVfB

2
d
199. Evaluate the integral using substitution: / (—33 )
o \z+4—z2

o Watch Video Solution

1
d
200. Evaluate the integral using substitution: / ( ? )
1 \z2+2x+5

° Watch Video Solution

2
1 1
201. Evaluate the integral using substitution: / (; — F)e%dm
1 T

0 Watch Video Solution

(z —2%)

202. The value of the integral dzx is:

wl»—'\
—_
&
~

A.6


https://dl.doubtnut.com/l/_5NUt090HzVfB
https://dl.doubtnut.com/l/_i9CPMJd0iUHp
https://dl.doubtnut.com/l/_o0s6dRiaSfJD
https://dl.doubtnut.com/l/_jZekPwR9lkm5

B.O

C.3

D.4

Answer:

° Watch Video Solution

203.1f f(x) = / tsintdt, then f’' () is:
0

A.cosxz + xsinzx
B.zsinx
C.xcoszx

D.sinx + x coszx

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_jZekPwR9lkm5
https://dl.doubtnut.com/l/_Y968UiqFjRan

204. By using the properties of definite integrals, evaluate the

s
. E 2
integral: cos” xdx
0

° Watch Video Solution

205. By using the properties of definite integrals, evaluate the

7 \Vsinz

integral: dx
0 +/sinz + /cosz

° Watch Video Solution

206. By using the properties of definite integrals, evaluate the

s .3
, 2 sin? z
integral: - —dz
0 sin?x 4 cosz

° Watch Video Solution



https://dl.doubtnut.com/l/_Y968UiqFjRan
https://dl.doubtnut.com/l/_vQQJg4UiE7fF
https://dl.doubtnut.com/l/_L9nqBau2kpyW
https://dl.doubtnut.com/l/_nl0ph2dyvgRK
https://dl.doubtnut.com/l/_YW0iVneh0wVx

207. By using the properties of definite integrals, evaluate the

5
integral:/ |z + 2|dx
-5

° Watch Video Solution

208. By using the properties of definite integrals, evaluate the

8
integral:/ |z — 5|dx
2

° Watch Video Solution

209. By using the properties of definite integrals, evaluate the

1
integral:/ z(1 —z)"dz
0

° Watch Video Solution



https://dl.doubtnut.com/l/_YW0iVneh0wVx
https://dl.doubtnut.com/l/_B0g9POQPfcdG
https://dl.doubtnut.com/l/_NWt7FBxTYGor

210. By using the properties of definite integrals, evaluate the

s

integral: / ' log(1 + tanz)dz
0

° Watch Video Solution

211. By using the properties of definite integrals, evaluate the

2
integral:/ T+/2 — xdzx
0

° Watch Video Solution

212. By using the properties of definite integrals, evaluate the

B
integral:/ (2logsinx — logsin 2z)dx
0

° Watch Video Solution



https://dl.doubtnut.com/l/_8ZVoVhlUNd4J
https://dl.doubtnut.com/l/_LmRoSv3h8C0S
https://dl.doubtnut.com/l/_8QwXnLI9B2cL

213. By using the properties of definite integrals, evaluate the

integral: /

° Watch Video Solution

ol

(sin2 ZE) dx

s
2

214. By using the properties of definite integrals, evaluate the

integral: / (w)d—m
0

1+ sinzx

o Watch Video Solution

215. By using the properties of definite integrals, evaluate the

integral: /

° Watch Video Solution

ol

(sin7 w) dx

L
2



https://dl.doubtnut.com/l/_mlvJindC0SAr
https://dl.doubtnut.com/l/_zGh8VDxwba4O
https://dl.doubtnut.com/l/_mDaeRn710OjP

216. By using the properties of definite integrals, evaluate the

2r
integral:/ (cos5 x)da:
0

o Watch Video Solution

217. By using the properties of definite integrals, evaluate the

) 2 sinx — coszx
integral: - dx
o l-+sinzcosz

° Watch Video Solution

218. By using the properties of definite integrals, evaluate the

integral:/ (log(1 + cosz))dz
0

0 Watch Video Solution



https://dl.doubtnut.com/l/_ytaydZPoIGf9
https://dl.doubtnut.com/l/_PWRH2lX8VrhW
https://dl.doubtnut.com/l/_VvqyROV3g2A3

219. By using the properties of definite integrals, evaluate the

. @ NI
mtegral:/ dx
0 v+ a—=x

o Watch Video Solution

220. By using the properties of definite integrals, evaluate the

4
integral:/ |z — 1|dz
0

° Watch Video Solution

221. Show that/ f(z)g(xz)dx = 2/ f(z)dz, if f and g are defined
0 0

as f(z) = f(a —z) and g(z) + g(a — z) = 4

° Watch Video Solution



https://dl.doubtnut.com/l/_9xDR10irwSbQ
https://dl.doubtnut.com/l/_qMRUUxJ6N3bI
https://dl.doubtnut.com/l/_xERU3I2YFZ8b

w/2
222.The value of/ (a:3 + zcosx + tan® z + l)da: is :
—7/2

AO

B.2

D.1

Answer:

° Watch Video Solution

223./2 (w)dw TS
0 44 3coszx

A2
3
B. —
4

C.0


https://dl.doubtnut.com/l/_7OBaP0h8cSox
https://dl.doubtnut.com/l/_oxGmJk2Yo4jL

Answer:

° Watch Video Solution

224. Integrate the function:
r — 3

o Watch Video Solution

1
225. Integrate the function:
vr+a+vzr+b
° Watch Video Solution
226. Int te the fi ti 1
. Integrate the function: ———
zvaxr — T2

o Watch Video Solution



https://dl.doubtnut.com/l/_oxGmJk2Yo4jL
https://dl.doubtnut.com/l/_JtYIClLiwy6R
https://dl.doubtnut.com/l/_eoNhQNyMvVyL
https://dl.doubtnut.com/l/_53DzkdacHumd

1
227. Integrate the function:

z2(z* + 1)

3
1

° Watch Video Solution

1
228. Integrate the function:

Z

N =

1
3

+x

o Watch Video Solution

229. Integrate the function: /
8 (z 1 D)(z +9)

° Watch Video Solution

. sinx
230. Integrate the function: —
sin(z — a)

° Watch Video Solution



https://dl.doubtnut.com/l/_TlmYHkZhC8Ap
https://dl.doubtnut.com/l/_cw2ivkokWnjh
https://dl.doubtnut.com/l/_m1ui2E3vQ6oK
https://dl.doubtnut.com/l/_y9jBzddA5EMa
https://dl.doubtnut.com/l/_6VvSN4RYPWQK

65 logx e410gac

231. Integrate the function:
edlogz _ p2logz

° Watch Video Solution

CoOS T

232. Integrate the function:

4 — sin’zx

° Watch Video Solution

sin®x — cos® z

233. Integrate the function:

1 — 2sin?zcos2z

o Watch Video Solution

1

234. Integrate the function:
cos(z + a)cos(z + b)

° Watch Video Solution



https://dl.doubtnut.com/l/_6VvSN4RYPWQK
https://dl.doubtnut.com/l/_hNpq2neE04Vb
https://dl.doubtnut.com/l/_PmjqkDHOV0ZW
https://dl.doubtnut.com/l/_6DK8wamqWP4G

3

V31— x8

235. Integrate the function:

° Watch Video Solution

e:l:

236. Integrate the function:

(1+e)(2+e?)

o Watch Video Solution

1

237. Integrate the function:
& (2 + 1)(z2 + 4)

o Watch Video Solution

238. Integrate the function: cos® gelogsinz

° Watch Video Solution



https://dl.doubtnut.com/l/_1dghg0XmuFiM
https://dl.doubtnut.com/l/_MaEmGm3Dpnij
https://dl.doubtnut.com/l/_vRfIu607TcoG
https://dl.doubtnut.com/l/_Y2Q7kRf7FSV5
https://dl.doubtnut.com/l/_PEoxoml9KW07

239. Integrate the function: €31°6® (z* + 1) !

° Watch Video Solution

240. Integrate the function: f'(az + b)[f(az + b)]"

° Watch Video Solution

1
241. Integrate the function:

3

sin® z sin(z + a)

° Watch Video Solution

. sinTly/z —cosy/z
242. Integrate the function: , (z €0, 1]
. -1 -1
sin” " y/z 4+ cos~1\/x

° Watch Video Solution



https://dl.doubtnut.com/l/_PEoxoml9KW07
https://dl.doubtnut.com/l/_XE8oVc6dLdPI
https://dl.doubtnut.com/l/_osd1kaO48kbp
https://dl.doubtnut.com/l/_jhVRMsWI6ifY

1 - Ve
1+ vV

243. Integrate the function:

° Watch Video Solution

2 + sin 2z

244.Int te the function: ———
ntegrate the function 1—i—cos2a:e

o Watch Video Solution

224+ +1

245. Integrate the function: 5
(z+1)"(z + 2)

° Watch Video Solution

1—=x
1+ x

246. Integrate the function: tan !

o Watch Video Solution



https://dl.doubtnut.com/l/_noyp6TfvXepu
https://dl.doubtnut.com/l/_Gt4VirlJmvqK
https://dl.doubtnut.com/l/_bGpSjZi0Ad3Y
https://dl.doubtnut.com/l/_ZtQYo0gfYs1k
https://dl.doubtnut.com/l/_dmM3ujALC3ok

Va? + 1[log(z? + 1) — 2logz]

247. Integrate the function:

rl

° Watch Video Solution

T 1—sinz
248. Evaluate the definite integral: / e’ (—) dx
x 1— cosz

o Watch Video Solution

o T sinzcosz
249. Evaluate the definite integral: / dx
0

costz + sin*z

° Watch Video Solution

s

COS2 T

250. Evaluate the definite integral: / : dx
0

cos2z + 4sin’ z

° Watch Video Solution



https://dl.doubtnut.com/l/_dmM3ujALC3ok
https://dl.doubtnut.com/l/_LY21X4Rl6RrM
https://dl.doubtnut.com/l/_VIKoIkfykPMy
https://dl.doubtnut.com/l/_R8CEVh9hF5uh
https://dl.doubtnut.com/l/_xhAtGzmQq19C

o 3 sinz + cosz
251. Evaluate the definite integral: / dx

z v/sin 2x

° Watch Video Solution

1
d

252, Evaluate the definite integral: / w dx

0

Vite vk

° Watch Video Solution

7 sinx + coszx

253. Evaluate the definite integral: / -
o 9+ 16sin2z

o Watch Video Solution

s

254, Evaluate the definite integral: / : (sin2z tan”'(sinz))dz
0

° Watch Video Solution



https://dl.doubtnut.com/l/_xhAtGzmQq19C
https://dl.doubtnut.com/l/_U6F07oEWwnuk
https://dl.doubtnut.com/l/_ruSV9OdZz3Ap
https://dl.doubtnut.com/l/_eH96yE42730Y
https://dl.doubtnut.com/l/_BzUW2wjBmDeR

rtanx

255, Evaluate the definite integral: /
o secx + tanx

° Watch Video Solution

256. Evaluate the definite

4
/ (o1 + |z — 2| + |z — 3|)da
1

integral:

° Watch Video Solution

257./131%?—‘11) = (%) +log(§) Y3 331

° Watch Video Solution

1
258. Prove the following:/ (ze®) =1
0

° Watch Video Solution



https://dl.doubtnut.com/l/_BzUW2wjBmDeR
https://dl.doubtnut.com/l/_9PFHPQ3ZTahz
https://dl.doubtnut.com/l/_FaOwhJc4JYRo
https://dl.doubtnut.com/l/_guSmn85mrNyw
https://dl.doubtnut.com/l/_3LJS5yzrALwj

1

259. Prove the following: / (m” cos* xdm) =0
-1

° Watch Video Solution

260./5 (sin3 a:)dac = %qmﬁ—saé‘l
0

° Watch Video Solution

261. Prove the following: / ' (2 tan® m)dm =1-—log2
0

° Watch Video Solution

. ! .1 ™
262. Prove the following: (sm a:)da: = (5) -1
0

o Watch Video Solution



https://dl.doubtnut.com/l/_3LJS5yzrALwj
https://dl.doubtnut.com/l/_8wYv9aBCUcTt
https://dl.doubtnut.com/l/_7Xjr5mwbKxGP
https://dl.doubtnut.com/l/_4RbgQXOH83Cr

2
263. Evaluate / e3* dx as the limit of sums.
0

o Watch Video Solution

d
264. [— 2T s equal to:
et +e”*

A.tan" () + C
B.ta,n_l(e_”’) +C
C. log(e‘lc — e_m) +C

D. log(e”C — e_m) +C

Answer:

° Watch Video Solution

cos 2x )
265./ 5 dx is equal to:
(sinz + cos )


https://dl.doubtnut.com/l/_eXQ4c5tEM2KX
https://dl.doubtnut.com/l/_2czOIIIxUOAz
https://dl.doubtnut.com/l/_ToB2zY5S4q4c

-1
A C
(Sinx +cosa:> i

B.log|sinz + cosz| + C
C.log|sinz — cosz| + C

D. (1/(sinx+cosx)”"2)+C

Answer:

° Watch Video Solution

b
266.1f f(a + b — z) = f(x),then / z f(x)dz is equal to:

A.(a;b>/abf(b—m)da:

B. ((a+b)/2)int_a”b f(b+x)dx

C. ((b-a)/2)int_a”b f(x)dx

D. ((a+b)/2)int_a”b f(x)dx

Answer:


https://dl.doubtnut.com/l/_ToB2zY5S4q4c
https://dl.doubtnut.com/l/_bvkfLMFM4068

o Watch Video Solution

o 221 ,
267. The value of tan — |dzxis:
0 142 — z2

Al

B.O

]

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_bvkfLMFM4068
https://dl.doubtnut.com/l/_wciWkJBj3MfU

